7'6a

(}r;j{C)ID /OIJ,AJ N./\') ke,}}; 2 6} chl"}/\ ) “ fON J:df)/\ D}'é'/(();m

i g : thJ. oAhA) I
AR
13 &> '133 7 ) 7e'o /f\,w od F-WM D ase I1peh Lk
P Hy o we ) mread (1773 7
L Hot w= Y2 oovers  onax ijg . A
. PRoCFRQ fe Ai13i 0> ¥ T ﬂgo [e AleIian Alc yey . d

. PROC FREQ. -> e ~d (A5H swazr)  uim 07 1¢3ih A

Use the command 7 /
EXACT CHISQ OR: . 7%? ate frsu Auan  okd
in PROC FREQ

(41{"4500) ﬂ!’ A23M D /\I(C’Jj v e ,\[a/ﬁi N2 A p .2
,\P ére ] 5 /\'(GJ M7 Al AR D Alle )

. _
A1) N 13an (e e > e Methh  ~2)

r

1 ~dre Je

/a"ﬁD? Mo, Ny Defe '13*'/“(99"’(" ')7”‘/\» fo 30f 0AA ) 3

‘ - epan
4 Bin (Y\OJ Tx{?-;a)

A &“(“‘-u Tx(y=) )

U'T‘ D3n Aen SN /\J/\M'T’ ,Mk-:’jcf ’!()D
Ployerlothe) = (m2e )R ) w” /Z , ,/‘,)(kd)
[[hro e J’AZN,\ 0 Usd gﬁi}ﬁ 19> 'i[’,zﬂ 5 | |ID

.‘A‘(?aor”)ﬁ ')7'6» MDY DA> 2

( ) :“?/m zv;/-‘ >

Note: The notation here is slightly different from that | used in class this year.
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Outline Proof of the Hannan & Harkness Result




